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Questions

A customer savers Rs. 30. When a discount of 20% on the marked price is offered. the price
of article is:

The full length of the Badminton court is 13.4 meters (44 ft) While its Width is:

The average4 of 5 consecutive odd numbers is 35. What is the 4th number?

The average of 5 consecutive number is 95. What is the 4th number?

The sum of two consecutive number is 55. Which is the largest number:

A student has to secure 40% marks to pass. he gets 150 marks and fails by 30 marks. What
are the maximum marks?

Five times an unknown number is 5 less than 50. The unknown number

Water is filled in a cylindrical vessel in such a way the its volume double after every five
minutes. If it takes 30 minuyt4es for the vessel to be full then the vessel will be one fourth full
in.

At what rate of simple interest per annum an amount will be doubled in 10 years;

If 10 cats can kill 10 rats in 10 minutes how long will it take 100 cat to kill 100 rats?

Answers Choice
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. Rs. 150<br>
. Rs. 100<br>
. Rs. 300<br>
Rs.120

. 5.18 metres (17ft )<br>

. 1.98 meters (6ft 65 inch )<br>
. 10.97metres (36 feet)

. None of these<br>

37
31
39
33

96
93
97
94

25
28
26
27

400 <br>
500
475
450

. 20 minutes <br>
25 minutes <br>
7 minutes <br>

10 minutes <br>

10%
7.5%<br>
16%
15%

. 1 minutes <br>
. 10 minute <br>

. 100 minutes <br>
. 10000 minutes<br>



